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MEFAG-17ED 17.0 [0.84] 610 610 50 2.3
MEFAG-21Eb 21.3 [0.84] 760 610 50 2.8
MEFAG - 26E5 258 1[0.84] 915 610 50 3.3
MEFAG -35E5 34.7 10.84] 1,220 610 50 4.3
MEFAG - 25E6 25.0 [1.24] 610 610 66 3.3
MEFAG - 32EBG 31.5 [1.24] 760 610 66 oUE 490 4.0
MEFAG -38E6 38.1 [1.24] 915 610 66 47
MEFAG-51E6 51.3 [1.24] 1,220 610 66 6.1
MEFAG - 28E8 28.0 [1.39] 610 610 80 3.4
MEFAG - 35E8 35.3 [1.39] 760 610 80 4.1
MEFAG -43E8 428 [1.39] 915 610 80 49
MEFAG -58E8 575 [1.39] 1,220 610 80 6.4
ERRAHT e 500
o 1= 300
) L—% ) tU—FUR(E=TU—Y) 200 s
2 HS Rk =
>— Ut SR 100
Sy IR R Y 70
F 50
il
B
SBES B0TILT %
R OB%RHLLT (Pa)
(BEBOENTE) 10

A5 (m/sec) 0.2 0.3 04 05 0.8 1 2 3



